
 Task 1 

Fill in the gaps with the words from the box above. There are two extra 

words. 

The beginning of autumn is called an Indian summer if the weather is 

still warm. Usually it is just (1)_______ summer. There is still 

(2)________ of sunshine and the evenings are soft (3)_________ to 

take long walks. 

We say that autumn is a rich season because the trees are (4)________ 

of fruit and most of the vegetables are harvested at the beginning of 

autumn, too. In Hungary the grape harvest, that is (5)_________, is a 

great feast. Friends and relatives come together to pick the grapes from 

the (6)________, to press them, pour the grape juice into wine-casks 

and left it ferment for a while to be decanted later. 

The rainiest season is definitely autumn. All kinds of precipitation may 

(7)________ during the autumn months from (8)________and rain 

through mist, fog, hoar frost and sleet to snow. 

In autumn the leaves of trees slowly become coloured, you can see 

yellowish, brownish and reddish (9)________. In October the weather 

is very changeable: one day it is as if it were summer the next is just 

like in winter. In November there is often frost. School children are not 

very (10) _________ on autumn because this is the time that the new 

school year starts. 

 

Task 2 

What kinds of precipitation is mentioned in the text? 

 

Task 3 

Name as many autumn fruit and vegetables as you can. 

vintage   ones  full   occur   like   keen  has   vines   enough   

too   plenty   drizzle 

 

 

 


